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AT A HE T2 (A2-197) 540,000
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(H=)II2E0tE HEAHIAY 900,000 0 900,000
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270,000,0002 %0.72% 1,944
(Beh)ardexotzeael 157,508 206,066 48,558
201 Let2 | 4,158 4,026 132
01 AtR2elt] 4,158 0 4,158
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206 24l 26,011 26,787 ATT6
01 Ml 26,011 0 26,011
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I GlaE2 10,702
OEIl oaE2 13,959
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-11Ext 23,940,000& * 2% 47,880
- Bi = Xt 40,0008 » 69 » 128 2,880
- EHIS 20,0008 * 129 « 123 2,880
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ogset= 100,000& = 62Z 600
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- 889 -




SM E2AAED
H: HHESAAH(ZZAED)
chel: ol 2| CEERED
5 - d L
SN - M- A(SH) - HIEMES - BHES Ofl Ao agoﬁ Hpsza
1 \ | PEEE] 150,000,000% * 1% 150,000
MRES(S2ALD) 457,500 631,850 A174,350
VW RN 457,500 631,850 A174,350
(E=)UHEHAHX= 457,500 631,850 2174350
705 Gl =222 248 457,500 631,850 A174,350
02 Ofl 4=20| Kh &t & 457,500 631,850 A174,350
OE Y-S, 28~JIY, Adze-HA22t &
2L SX2 0| AE(E8I2)
457,500,000 457,500

-890 -




